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Age B.P.
year mm Hg
30 108
30 110
30 106
40 125
40 120
40 118
40 119
50 132
50 137
50 134
60 148
60 151
60 146
60 147
60 144
70 162
70 156
70 164
70 158
70 159
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Negative Linear Correlation
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No Linear Correlation
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No Linear Correlation
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Oy SNied (i drulas

SS, =Y x*—nX? =32348-10(56.8)" =85.6

SS, =Y y?—-nY?=139785-10(118.1)* =308.9

SP, = > xy—nXY =67226-10(56.8)(118.1) =145.2

(__SPy _ 1452
SS.SS,  +/(85.6)308.9)

—0.893 i




Properties of the
Linear Correlation Coefficient r

1

_1 s
0

No Correlation

1<r<l1

Critical Values of the
Pearson Correlation Coefficient r

n a=.05 a=.01

4 950 .999

5 878 959

6 81 917

7 754 875

8 707 834

9 666 798
|10 | ».632 765

1 602 735

12 576 708 \

13 553 684

14 532 661

15 514 641

16 497 623

17 482 606 r=0.893

18 468 590

19 456 575

20 444 561

25 .396 505

30 361 463

35 335 430

40 312 402

45 294 378

50 279 361

60 254 330

70 236 305

80 220 286

90 207 269

100 196 256




Misuses of the
Correlation Coefficient

Strong correlation does not mean
®

' —
causes w in.

- Simple Linear Regression -




Simple Regression Line sabw ¢ saw £ 5 2ad

130 4 Yy =21.75+ 1.7x
R?=0.80 .

125 - :
120 : /
115

110 /

105 T T T T T 1

O ld

O S ba duidaa
130
Y =a+bX 1 b .
% 115 - //
SP 1o | .
= al 2145.2 =1.7 105 I
SSx 85.6 50 52 54 56 58 60 62
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+* The amount of change in the dependent

Marginal Change

variable when the independent variable

changes by exactly one unit:

BP =21.75+1.7Weight

Age B.P.
year mm Hg
30 108
30 110
30 106
40 125
40 120
40 118
40 119
50 132
50 137
50 134
60 148
60 151
60 146
60 147
60 144
70 162
70 156
70 164
70 158
70 159
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